Design Problems, Part1  Name: CM:

In an online quiz system, teachers write quizzes and students take them. The same quiz
question can appear in multiple quizzes. If a teacher updates a quiz question, it's important that
all quizzes reflect that change.

Solution A
QuizMain " Question « |Quiz
handleUpdateQuizQuestioniquestionld, questionDatal ::Idata “lid
displayQuiziquizid)
Solution B
QuizMain + |Quiz ” Question
handleUpdateQuizQuestion(questionld, questionData) > id :ddata
displayQuiziquizid)

Both of these designs have problems. Explain the problems with each one (note the item in the
OO Principles you are referring to with your problems), then propose a new design of your own
that works correctly.

Problems With A

Problems With B

Solution


http://www.plantuml.com/plantuml/img/JOwn3i8m34HtVuNLYIBu1IQM3WmT-02hZeH56aAT32tAl-EsK5XEfxlJi_Kk8T90FMeQlJCTf4kvzm2T9rLiiqmNae0lk55WxwwHARavRhFJ98-mUtvCmmVy-ZCbge55ewTnNjjAfePhG2mRUzqQ6r7OnD04vU-qLLOKsDuudh3QLqktXBzWPS4R
http://www.plantuml.com/plantuml/img/JOun3i8m34LtdyBgH15SWOcb0qC73c3LaR18GwYJeK6vEww0YENho__xsNgN46cX6JMjtfakCgKyUu39aogEMSg59E0BRXJOksjaIcuRZzbfaaVOFRzcu0F-_9aIzS2YqTEwjQqbPU0U46jZVxh6HXGsCJH1_JjjaGKLsXl74tRxhgr2OxH02hm1

A system tracks employee hours at a particular company. Every time any employee starts work
and stops work, the system must log it so the employee can be paid correctly and so
management knows who was working when. The system must also print out a weekly pay
report for each employee which includes total hours, the employee's name, social security
number, and employee id.

Solution A

HourTrackerMain WorklLog

employeeld
startDateAndTime
stopDateAndTime

b

handleStartWork(employeeld, startDateandTime)
handleStopWorkiemployeeld, stopDateAndTime)
handlePrintPayReportiemployeeld)

Solution B
Employee
HourTrackerMain employeeld
+ | mame
: ials itwM
handleStartWorkiemployeeld, startDateAndTime) tsnigﬁ_mf:;”ty it
handleStopWarkiemploveeld, stopDateAndTime) startDateAndTime
handlePrintPayReportiemployeeld) stopDateAndTime

createPayReporti)

Both of these designs have problems. Explain the problems with each one (note the item in the
OO Principles you are referring to with your problems), then propose a new design of your own
that works correctly.

Problems with A

Problems with B


http://www.plantuml.com/plantuml/img/RP1B2i8m443tSuhWoefUGH0KTA4K5LmFwO2X-J6PBefuTwTI_E4cOHvlu2MbTJ4ZOp15UazwihFI1GzWFPPYjgdZCwDjYVVeehd15MFZwIJ8SadSJYbadtgYNJFNTQLh55h5vkm2LIyxvJzood_ScbsK6liZvSJoiL61CVSnQpDIxJ7chUWGCP1U9Lc7_aIsOoVzeGlA90dwuK5b47vId-WhI8bbqlaTKy4TuFTB5aipcKrUIG0F
http://www.plantuml.com/plantuml/img/RO_D2i9038JlUOhGanLz1K7meA1GjE0vR8CktJ-osqEHlhkh-5jw2MJuPZA9hNQ1X2p6r1lEKxHAdJK0ob2CkFMTr4AgPJcGTdY3Axd6y2cHfBENTiOs6Dypxvf5jcTrGudNhgcrvV93-p01-p31Lg9TggW_Sl2IVXmb80wlMe-mlR_aEeXV8Y_Z1a_fxmuC0EElbYiiviKx5U0E

Solution:









